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2019(0dd)

Time : 3Hrs. Sem - V/Inst. & Control
Power Electronics

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.

fe=dl a1 W wfdrug fewoft forg —
(31) Sto o gIzd

() 3T T

(|) Yo Sto o

() s

Draw and explain
(1) Voltage current characteristics of SCR
(i1) Gate characteristics of SCR

IRG Eia B AT B —

(i) THo¥To3MRo @& diecdl &IRT &1 fagryarsn
Bl

(i) THo Hlo 3MRo & e fawdarsn @i

OR (312141)
What is the advantage of Triac over on SCR.

THolodRo A TD DA AP & ?
91y |
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o argRvex ifa Rerfa # vgar 8, a9

S9d N gI5d &I

(31) ST/ ST WHAT =, Sl &l Adfaa
B oY

(9) err A1 & gl ST Ahdl 8

(@) =&Y germ o1 Gdal @ #ife ar
ATSREER $I e ATh B T

(%) B/ ST 9&dr & & 4 999 @
ferg

The triac is equivalent to

(a) Two SCRs connected in parallel

(b) Two SCRs connected in antiparallel

(c) One SCR, one diode connected in parallel

(d) One diode, one SCR connected in
antiparallel

TRIP $UD SxI6EN & —

(31) T THoHI0MRo AHMIAR | q@ (Y

(@) 31 THoHIo3MRo Yfaww Iar d IS
gl

('\':l) TUdh 1;"\':[oﬂ)fo?ﬂ'l'\’o TUh SIS YUY
4 93 gv

(]7) & SIS, s THodlodRo Ufa
AR H s 8U
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GROUP -C

Answer all Five Questions.

Il ufg 9l & SR < |

7.

6x5=30

Why is commutation necessary in an SCR ?

Different types of commutation. Enumerate.

THoHIodRo # HRCIA I ATIID 27
$CYE @ =1 ysR & qarg |

OR (3121an)

Draw the two transistor model SCR and explain its

function in light of gate triggering..

THoHlodRo & Tl ¢ifoex Afsd &1 IR"
i AR e forRy & A 4 SHa gAT
B ATRT DB |

Describe the principle of D.C. chopper operation.
Derive expression for its average D.C. output

voltage. 6
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(vi)

(vi)
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If the temperature of a P-type semi-conductor
is gradually and continuously increased, the
Fermi level will move.

(a) Into the valence band

(b) Into the conduction band

(¢) Toward the middle of the forbidden gap
(d) None of these

IR flo ¥y AfiH~sder &1 AUH
fR—R T AR gerT ST, t
Gl olae wEl ST |

(@) o= I= #A

(@) FrsqwHE 4V H

(¥) wixfesd g & 9 #

() 39 9 BIg T8

In a power semiconductor device a junction
with highly doped layers on its both sides
requires.

(a) One breakdown voltage

(b) Moderate breakdown voltage

(c) Large breakdown voltage

(d) Very large breakdown voltage
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OR (3121a1) (%)

Explain low OP-AMP is used as integrator through

suitable circuit diagram.

IuYdd dfbe IRW & gRT 9di¢ & 3y gy
FCINCY @ ol 9 AT fhar sidar 2 ?
(x)

4. List different turn-on methods of thyristor.
4

IR &l faftr= ed—air= fAfer & =M
ford |

OR (3121a1)

(x)
Why is SCR used as a switch, Explain.

THoHlodRo &l Raa & dvg Fl s&IATd
HRd 27 ARAT BN |

5. Describe the function of Class-A chopper with

neat diagram. 4

7 1640505

Udh HTERYT THo¥TodRo &1 e 3if+
TIEA B |

(31) e Sifw <89 4 9

@) < 2w g | SgreT

(|) e i <E39 & SRR

(]) e 3iiw ergq & aren

In a D.C. chopper, if Ton is the period and F
is the chopping frequency, then input voltage
in terms of input voltage can be given by :-
(a) Vs Ton/ £

(b) Vst/ Ton

(c) Vs /fTon

(d) Vs f Ton

Udh Sotlo AUR H IR Ton FHATARTS
2, 'f' 9 fhad=d 2, a1 smseye
dlecdl &1 $Yc dlccdl & Hael A
foar < adar 21

(31) Vs Ton/ f

(9) Vsf/ Ton

(|) Vs /fTon

(g) Vs fTon
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(xix)

(xix)

(xx)
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In a differential amplifier CMRR can be
improved by increasing.

(a) Emitter resistance

(b) Collector resistance

(c) Power supply voltage

(d) Source resistence

fswrfrerae tfwerr o fifea o

4 P9 9eTHY CMRR YHRT ST AHdT @ |
(an) sfiex ufomie

(d) dadex yfeRie

(4) UTaR Awelrs dieedr

(2) ard gfoRie

A cycle converter is

(a) A.C. to D.C. converter
(b) D.C. to A.C. converter
(c) D.C. to D.C. converter
(d) A.C. to A.C. converter

TP Aigdell H-ac¥ 2 |

(31) wodllo ¥ SloHlo H=acy
(El) Slodlo @ Qoﬁo W‘C"\’
(|) Sodlo | Slotflo H-acy
(%) Todlo ¥ Todflo Hacx
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(xiii)

(xiii)

(xiv)

(xiv)
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The method in an inverter is commutation.
(a) Line commutation
(b) forced commutation

(c) External pulse commutation
(d) Either (a) or (b)

U® 319e} § SR &I aidT 8 —
(31) @S LA

(@) 9rea HFYEITA

(|) 9189 YeH HHYCUA

(<) (30) a1 (q)

Class A commutation is also called.
(a) Resonant commutation

(b) Resonant pulse commutation
(c) Self commutation

(d) Both (a) & (c¢)

FATH T HFYCYE B HEl ol ddhal @ |
(31) IS HUYSIA

@) ST e HFYSIA

(|) do® HUYSTH

(?) (3n) X (@) <
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